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Consider the parametric curve: X= $(1) . lﬂ_': %,(‘E\
Where y is also a differentiable function of x. Notice:

CHTY e => dyy= Yo Y so By | ST o] PaRBIETRIC

3 This allows us to the the SLOPE of the TANGENT LINE to a parametric curve at a
given point without ever having to eliminate the parameter “t".

NTE' o TanGENT => Yt =0
VER. TANGENT => aX/j;=0
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Awemr LINE :
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B |. Consider the PARAMETRIC CURVE:
(W)= (2+t% t+t?)

You may be asked to find slope at a point (x,y)
OR at a time "t". You will need time "t" to find)

slope so if you are just given a point, then use
x=f(t) or y=g(t) to find "t"

e Find the direction of increasing "t" values _t X | %
d 0l 2]6
® Find -‘%&in terms of "t" 3] 2

e Find the equation of the TANGENT LINE to the curve at the point (30).

e Find the coordinates of points on the curve where the tangent is horizontal
and vertical.
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dy, Wt _ 1+t
GJ"'&_/A? = T2t (%Y= (2412, t+t7)
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TanGenT (@ (3,0) At .(: & ot~
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PoINT = (3,0) Swepe= O\B/Ax: !%th:@ t= -
-0= Y% (x-3)
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VeeT TanGenr e = 2t=0 Hzo =5



Ex2. Findtheequation of the TANGENT LINE to the parametric curve when 1=1
(ou) = (44, 24 )

S,mer @t=1 = (5,3)
sure dy, - Wik H g .

- d’%lt 2t4 '-l ©° "
Y-Y= m(¢=X)
y-3="Yp(x-5)

5(3 Find the equation of the TANGENT LINE to the parametric curve at the point (0,0)

(x.\AS (2sin(®), 2t +t%) = stﬁg) =0
Sof: d _al_g/,l{_ 242t @ - y=2t4t2 =0
Sl il Akl 11 «@D



BY: For the following parametric curve, at what points does the TANGENT LINE fo the
— curve have slope 1?7

(%u)= (88%+45, I8t>-lbt +1)

ol dyy, = it _ wt -y _ o= 30t 16
"Il e ST S% g et -
49t +4=0
(2t -1)Y(t-u)=0
ERED
\L?mcfpb'm’tr
Y, (C

B:S. Show that the following parametric curve has two TANGENT LINES at the point
— (0 0) and find equations of both of them.

(%4) = @sin(0), cos(O)sinle) 05t~ 21




